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<l P 109.10.23~24 (109.11.21~22{109.12.12~13|109.10.21~22|109.11.20~21| 109.12.15~16| 109.10.19~20 109.11.20~21 { 109.12.11~12 [ 109.10.20~21 | 109.11.21~22 | 109.12.14~15 ;;‘if;
TSP ;
3 24 /) pEiE 128 73 81 102 63 109 107 65 103 125 70 118 —
(ng/m’)
PM103 pIisE 69 56 65 66 50 59 69 35 68 75 39 60 100
(pg/m)
PMZ@ 24 | pE B 47 — — 36 — — 30 — — 31 — — 35
(pg/m)
SO, Bt IS 0.008 0.004 0.005 0.001 0.005 0.009 0.017 0.005 0.008 0.008 0.006 0.017 0.075
(ppm) pLiaE 0.004 0.003 0.003 <0.001 0.003 0.005 0.004 0.003 0.004 0.004 0.003 0.006 -
NO, Bk T IEE 0.075 0.026 0.038 0.042 0.036 0.057 0.049 0.030 0.050 0.051 0.020 0.044 0.1
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Cco Bt I IEE 1.27 0.50 1.03 0.80 0.55 1.08 1.88 0.86 1.74 1.18 0.94 2.71 35
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(ppm) Ht 8 EIEaE 0.029 0.057 0.061 0.040 0.061 0.031 0.052 0.067 0.047 0.040 0.060 0.043 0.06
’\(lgf):;: pLiog 0.49 0.18 0.19 0.30 0.20 0.47 0.23 0.13 0.52 041 0.07 0.19 —
& (ug/m®) 24 ) pE g <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 —
A (ug/m?) 24 ) pE g <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 —
F (pg/m®) 24 ) pEiE <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 —
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@ > (ug/m?) 24 ) pE g 18.00 7.51 9.66 9.89 3.11 6.04 10.10 3.31 9.27 11.60 6.82 6.40 —
BAF R & L & A T2 3 3 b % # i A L # L -
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& 24 | B
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WEIER (%) pTimE 91 75 82 87 66 71 72 79 91 75 87 74 -
EARE g/m?/» 7.8 8.1 7.9 7.0 7.1 7.3 6.5 7.0 7.7 6.6 6.8 7.2 —
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3t 4 JRAx¢ | 109.10.16~17 | 55.2 | 81.1 | 56.6 | 517 | 529 | _ -
- - U
R 5 B — — 75 70 65
BARE) 109.10.16~17 | 55.4 | 84.8 | 574 | 495 | 471
R 109.10.16~17| 56.0 | 815 | 575 | 549 | 50.8 | -
R A
B R 109.10.16-17| 56.7 | 892 | 579 | 656 | 539 L
R £ — — 60 55 50
.3 LpliEe TR EEREL
H = dB(A)
RSy - ZRlp Lveq Lvmax Lvio» Lvio = ? 1 % 5 5
A3t pRFEY o [109.10.16~17|  34.3 47.4 38.4 334 |
- A
PoARERAE 2L — — 70 65
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2 AP BP APl TE A RS- UBRBET AR E109E 545 T plERS o sk
Bk
AFABRFT R 109 & 110 20 pief7 o TR ELSBBEMEA L
ERARIAA) S BB 2 2EXEFHEB)E ALF R TR HEC)E 3 o
_E';: -;E!JIE El é’ /z\ 7}{ ‘/‘j?_ ~ pH ~ DO ~ BOD5 ~ COD ~ SS ~ ﬁ }i ~ E pg ~ —‘ W; a}& 5—3: ~
AR RF CEF CRISF BB ER AP ST R B
B d - ) s R s TAEB W m‘if? A ﬁ@%(Cu ~Hg~Pb~2n-
Cd~Ni~Cr)~As & » TPHEFLEEFZT - o X LGP "J“é’«iz\/% ~ P K 2 }%féi
2L RIEIE L L BA RO TS o TRl %4 6 % B 28~F 53 -
26 EREHABLTERS: REL
e G Hps
38 P MDL | A A As B. B Bs C: (off Cn |8-ka
(¥ i) fol
pH - 8.4 8.4 8.4 8.4 8.4 8.4 8.4 8.4 8.4 [7.5-85
ki (°C) - 28.0 27.7 27.5 28.4 28.1 27.9 28.8 28.5 28.2
%3 ¥ mgll)| - 6.7 6.6 6.4 6.6 6.5 6.4 6.6 6.4 6.3 550
P&(&ﬁ;‘%@ 10 | 14 17 18 1.8 14 16 16 | 24 | 20 | —
% & (psu) - 33.8 33.8 33.9 33.6 33.6 33.7 335 335 33.6 -
EREAM) - 1.6 - - 15 - - 1.3 - - —
ERCEE N
(mg/L) 1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <10 | <3.0
“EFIE ] 15 | 63 5.6 5.8 5.5 6.2 6.0 5.9 5.8 63 | —
(mg/L) . . . . . . . . . .
#gk(mg/L) [ 0.002 [ 0.018 | 0.015 | 0.017 | 0.019 | 0.023 | 0.018 | 0.016 | 0.018 [ 0.020 -
%% (mg/L) | 0.10 | 1.00 0.92 1.03 1.01 1.19 1.12 1.20 1.39 1.02 —
% 3 (mg/L) | 0.02 | 0.06 | <0.05 | <0.05 | <0.05 | <0.05 | <0.05 | <0.05 | 0.07 | <0.05 —
s g
"“(*r%ngfl_f 0.09 | 0.98 0.90 1.01 0.99 1.16 1.09 1.17 1.36 0.99 -
e mg/L)| 0.06 <0.22 <0.22 <0.22 <0.22 <0.22 <0.22 <0.22 <0.22 <0.22 —
i"(ﬁgﬁﬁi? 0.005 | 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 -
7 Pa(mg/L) 1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 2
S (mg/L) |0.0009| <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 | 0.01
54 -
(CFU100ML) <10 85 35 <10 45 25 <10 10 35 15
# (mg/L) [ 0.0003 | <0.0020 | <0.0020 | <0.0020 | <0.0020 | <0.0020 | <0.0020 | <0.0020 | <0.0020 | <0.0020 | 0.05
4 (mg/L) [0.0002| N.D N.D. N.D. N.D N.D N.D N.D N.D N.D [ 0.005
£ (mg/L) [ 0.0050 | <0.0050 | <0.0050 | <0.0050 | <0.0050 | <0.0050 | <0.0050 | <0.0050 | <0.0050 | <0.0050 | 0.05
A (mg/L)_[0.00015] N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. [ 0.001
& (mg/L) | 0.0004 [0.000304]0.000149[0.000110[0.000141]0.000226|0.000196(0.000178]0.000263[0.000155| 0.03
4 (mg/L) [ 0.0004 [0.000097[0.000074]0.000042[0.000064|0.000086[0.000092[0.000073[0.000086/0.000078] —
5-(mg/L) [0.0004| N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. [ 0.01
& (mg/L) [0.0016 | 0.0019 | 0.0013 | 0.0007 | 0.0009 | 0.0013 | 0.0012 [ 0.0013 | 0.0018 | 0.0014 | 0.5
I % &
(‘mg“_) 0.00003| N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.1
AN
(ma/l) 0.00003| N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.1
il ?'}E"‘\ 0.00004| N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.1
o (I
y54 (mEB 0.00005| N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.1
‘Eﬁ%ﬁ; 0.00025|<0.00025|<0.00025|<0.00025|<0.00025|<0.00025|<0.00025|<0.00025(<0.00025(<0.00025| 0.1
- *\
(mall) 0.00004| N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.1
B APY 1109# 11 20 p o
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